Тест
Сложение и вычитание одночленов.
1. Выполнить действия:     7q + 9q + 4q
а) 20q      б)  10q    в)  22q
2. Вместо символа  *  поставьте такой одночлен, чтобы 

    получилось верное равенство:

                                          5а2b3 + * = 13 а2b3
        а)  18 а2b3   б)   10 а2b3    в)   8 а2b3
3. Решите уравнение:   0.5х + 0,4х  = 9

а) х = 0,1    б)   х = 10    в)   х = 0,81

    4. Упростите выражение:   3х ∙ 2у + 5х ∙ 2у + 6х ∙2у
        а) 28ху        б)  28(х + у)    в)  28х + у

